Solve each inequality. Graph the solutions on a number line.
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Solve each inequality.

.
7. 9x-7<=38 8. 3<o+ 9. -8y+18>-22

»
10. 50 <8—o6x 11. —_+6=-3 12. 30=-30-06x

X
13. 15-5k20 4. 3-7>-4 15, 2v_14<86

—11=-14 18. 7<4g-9

'_h|1-¢

16. 1llw+6=182 17.



Solve the Two-Step Equations — Integers

5x+3=8 a+2__1
— =
_ X
—6—2m =10 L 711
5
—5 = n—=6
5=743r 3 - _4




Answers

5x+3=8 a+2__1
2
x =1
a=—4
_ X
—6—2m =10 i
m = —8
x = 20
—5=74+3 n—o6
r — 4
3
r=—4
n=—=6




Solve the Two-Step Equations — Integers

4+3p=19 i—Z:
-3
—6k — 13 =83 17(x+5) =0
10—g v
= - -7=-11+-=




Answers

— X
443p=19 2o
-3
) =15
j x = —33
—6k — 13 =83 17(x+5)=0
k=-16 x=-5
_ v
_0-g 7 =—11+—
-2 5




Solve the Two-Step Equations — Integers

—24 =7x + 18 —8(3—5) =32
k = —

X 11 =—20 8q 10qg + 36
-3

z b+ 4
—=z—2 S

3= % —=




Answers

—24 =7x+ 18 —8(3—5s) =32
x=—6 s=7
k - _
X 11 =920 8q 10qg + 36
-3

q=2
}r\:27
—=z—2 bﬁ:_

7

z=23 h = —25




Solve the Multi-Step Equations - Integers

124 5x—8=12x—-10 x+2_2

x—3
5x — = ‘
7:3:{-1—5 2(3x —4)=3x+1

3x =5(x+3)-3 x—=5 x+2




Answers

124 5x—-—8=12x—10 x+2_2
x—3
.1(:2 \:8
Sx —_— — :
2X a4 2(3x—4)=3x+1
2
x =-—10 x=23
3x =5(x+3)—3 x—=5 x+2
2 3
x = -6 x =19
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Solve the Multi-Step Equations - Integers

4x+7—6x=5—4x+4 A

2 3
3x—1: 3(5x —2)+4x=9x+ 6 — 2x
3x + 2
5x+6_31{_2 52x+3)=3(4x+1)—2(3x+2)
7 =3
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Answers

4x+7—6x=5—4x+4 T
2 3
x = X=06
3x -1 35x—2)+4x =9x+ 6 — 2x
3x +2
x = —1 x=1
5x+6 52x+3)=3M4x+1)—-2(3x+2)
) =3x— 2
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